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Rdw: (i) 39y ¥ ave o qur T &1 29 wvEl & w30 ye IfErt &
Directions: There are two sections 'A’ and 'B' in this question paper. All 30 questions
of bpth sections are compulsory.
(i) s &g FeiRa 3w 376 oy sifea &
Marks alloted to the questions are mentioned against them,
(iify TP F P EAFTAS Uigd 1 WHfaa R A
Read each question carefully and answer to the point. _
(iv) S §e&T 1 20 16 g9 &1 39 91 & TP WUE & FR § UK

(v)

(vi)

fawea fedr o &1 wdt FT IRy & fofae| wes w2 F 5 e
17 & 20 a& Ff¥aa g gea &

Question No.1 and 16 are multiple choice questions. Four options are
given in answer of each part of these questions, Write correct option
in your answer book. Question No. 2 to 5 and 17 to 20 are definite
answer type questions.

U9 |1 6 9 qAT 21 | 24 TP JAS B IR &N 50 ol A S|
Question No. 6 to 9 and 21 to 24 are to be answered in about 50
words each.

T9 HEAT 10 9 12 TA7 25 ¥ 27 7P Wl o FOR ATHT 70 T=) A S|
Question No. 10 to 12 and 25 to 27 are to be answered in about 70
words each.

(vil) W& |1 13 | 15 G2 28 ¥ 30 76 T o1 IR ATHT 120 vt & e

Question No. 13 to 15 and 28 to 30 are to be answered in about 120
words each.

(viii) $9 99-UF § HHY R P faseq 481 & qenfy o ye=t & snalke R

v foar 21 3 gt & dad v e 1 & TR Ayl

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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WU - A (Section — A)

1. (@) 5 sefemaven § ToA & 99 & RO & 1
(i) e o STt (i) 9T =fs s
(i) St s (iv) TETeR ot B
Reason of the 'problem of choice' in an economy is :
(i) Excess of resources (i) Per Capita Income
(i) Technological development  (iv) Scarcity of resources

(@) T Fer g & 1
(i) VIR TR (i) TP g
(iit)  ferenfRae ot avegy (iv) T q DR T8
Tea and Sugar are :
(i} Substitute goods (i) Complementary goods
(i) Luxury goods (iv) None of the above

() %mm%— N L 1
(i) 1T (i) 3t 3
(i) G 3 (iv) T @ D13 &l
The value of cg::r?:ei?nﬁ:;ﬂt is-
(i) Total Product (i) Average product
(i) Marginal Product (iv) None of these

() Frefeiea § ¥ i qof sferaef & aemor 78 & 1
() TR ¥ ¥ TE | a1 g fawar 8 2l
(i) w1 IR ¥ yawr 3 S e g 2
(iif) TH! GRT Safed avge vHed &K &
(iv) oAl GRT S awgE Towd e gl o
Which of the following is not a feature of perfect competition:
(i) The market consists of a large number of buyers and sellers.
(i) Entry into the market as well as exit from the market are free for

firms.
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(i) Firms produce homogenous products.
(iv) Firms do not produce homogenous products.

2. or yeR @ srferawen # snfiis far-oem a1 frafkor s @ Rufadl & saR g
& 1
In what type of economic system all the economic activities are organised
through the market?

3. HFT 3@ D HGUTT (STE) HTROM: 3 8l 8P 1
What type of slope does a demand curve generally have?
4, TP I P O IATTHA P TIE A D & TT B 87

What 'the want-satisfying capacity'of a commodity is called?

—r

5. 3rude § B4 519 RS ¥ TRad= X wad &, 39 71 T 8P 1
What the factor is called, which the firm can vary in the short run?

6. oot 3RIPTE W U 0T HHI &7 2
What do you understand by Micro Economics?

7. graEE HHE & Alowa § @O SR 87 >
What is Decreasing Returns to Scale?

8. 3NTUDI H UG B B T AN B O B B M 27 2
How the total cost of a firm is calculated in a short run?

9. IR § fog ford et &2 2
What is the Shut Down Point?

10. 4 & HEa @G I 3 T IaH 89 3
What do you mean by the price elasticity of demand?

11. 2 3AREF 5 S 06 IR @1 T Tal Sied &7 W Dol 3
Why do two indifference curves never intersect each other? Clarify.

12. JEH Be BF GHeHT B IaTERVT Hied WL B | 3
Explain the concept of production function with the help of an example.

JRE1/OR
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7 & 5 tferast 3 et ever e st Rer e Bt omr B

In the following given table, calculate Total Cost (TC) and Average Fixed Cost
(AFC) :

Mid | iR eme | g uRedt e paana | aiaa Rer e
(SBIFAT) | Total Fixed Cost [Total Variable Cost | Total Cost |Average Fixed Cost
Output (TFC) (TVQO) (TC) (AFC)
(Units)

(q) ) (%) (%) ®)

0 20 0

1 20 10

2 20 18

3 20 24

4 20 29

5 20 33

6 20 39

7 20 47
13, %ﬁm%%ﬁ%aﬁmmaﬁﬁuﬁaaﬂﬁmﬁmwé? FRTE0I VT
DI 5

What are the determining factors of price elasticity of demand for a goods?
Explain with the help of examples.

14, ﬁﬁaﬁﬂﬁmﬁaﬂmaﬁmaﬂmmaﬁﬁﬁmﬁﬂg?mﬁmls

What do the long run marginal cost curve and the average cost curve look like?
Explain in detail.

15. pleRqeiRfied aI9R @ 3m w1 v #2 we S| 5

What do you understand by Non-competitive markets? Clarify.
AAGI/OR
HEMEIBR ¥ B 3y ZaeR o< &7 awairee|

How do firms behave in Oligopoly? Explain.

412 (IGH) (4]
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QU - ¥ (Section - B)

16. () 3are= &mral # gfg am & fowe 5 oo fsar sman @ a8 sEemar & 1

iy FRoem (i) <&m =
(i) 39Ty (iv) 79 9 B 18
The expense which raise productive capacity is called:
(i) Investment expenditure (ii) Defenece expenditure
(i)  Wwastage (iv) None of these

(@) 41 DY o s | g or anf &: 1
(i) oG o Sal § 9 (i) TR & Pradt smRafda &
(i) TR & Bprat F gfe (iv) 39 QD 38
Meaning of deterioration in the purchasing power of money is:
(i) Decrease in prices of goods
(i)  No change in the prices of goods
(i)  Rise in prices of goods
(iv) None of these

(M e 3w vl (APC) @1\ B & 1
(i) %5‘ (i) s+c
(il %— (v) 3
Average Propensity to Consume (APC) is equal to :
(i) i—i—f (i) s+c
(i) % (v) 2

(¥) MR F<ger O & 2, o 1
iy Fefassmm (i) 3 > Fafa
(i) 3maE = Frafa (iv) 38 QD 78
Balance of Trade (BOT) is said to be in deficit, if;
(i) Exports > Imports (i) Imports > Exports
(i)  Imports = Exports (iv) None of these

412 IGH) [5] [ P.T.O.
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17.

18.

19,

20.

21.

22.

23,

24.

25.

26.

27.

3t ol &1 OFT: S S & oty ot oRon & T TR w5 €, & T el 6
1
What those goods are called which do not pass through any more stages of

production?

3 & ufey s aRad= & werawy, 3u ¥ uRad @ 71 BEd &7 1

What the change in consumption is called due to per unit change in income'?

T WRET (Ceteris Paribus) &1 Ifed 37 7T &2 1

What does 'Ceteris Paribus' literally mean?

R H %] Ud AR 9 F o] fopar 1ar? 1

When did the Goods and Service Tax come into force in India?

awq T yomett @=n &2 et a il 2 2

What is a Barter system? What are its drawbacks?

TR Y /T a B AT 8 2

Why money is demanded?

9 31 oRenfog S| | 2

Define Investment.

foeeh fafma = f5s @ &7 2

What is Foreign Exchange Rate?

it 3Rfe BT 35Wa S g3 Jeerd ST 3

How did Macroeconomics emerge? Mention.

Y Xe T FoE A A 39 T GHI €° 3

What do you understand by Repo Rate and Reverse Repo?

ST e (BOP) & U] WA & Ued FA13d| 3

State the components of current account of the Balance of Payments (BOP).
34E1/OR

faeeh ffrma aroTR fopdt wet €2 W Hifael

What is foreign exchange market? Clarify.

412 (IGH) [6]
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28. Hrg aftia fafer gy T 3y @ moE B Y FE 2P wwER| 5

How is National Income measured according to Value Added method? Explain.

29. st 937 & T ¥ o ) frafaft wse SR 5

Describe the multiplier mechanism in the reference of the creation of excess

demand.

30. U &1 g5IC a1 82 IAS 10T & 1 &Y I DS | 5

What is a deficit budget? Write its merits and demerits,
AYAT/OR
TSFEN U1 P A9 HY B T 22 FwEE)

How the Fiscal Deficit is measured? Explain.

XKk Xk k¥
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